Subject: Re: rpm -q kernel
Posted by Ales on Wed, 30 Apr 2014 12:11:40 GMT

View Forum Message <> Reply to Message

amayem wrote on Tue, 29 April 2014 22:320r is it because if | could query the kernel using rpm
then | could also potentially change the kernel using rpm, which is not allowed for a container?
It's not clear from your posts if you're working from inside a container (CT) or from a hardware
node (HN)? Do you have access to HN?

In any case, there is no kernel package installed within the CT as it doesn't need one. Even if you
do install it, it won't have any effect on the working kernel.

To find out your current kernel version, execute 'uname -a'. This works under both HN and CT.
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